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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,011 86,374 41,163 45211
RIRET1T 6 15 9 6
RIRET2T 27 55 26 29
AIEET3T 183 593 287 306
RIRET4T 400 969 483 486
B 616 1,632 805 827
REH 2,684 6,017 2,799 3,218
L&A 4,342 9,490 4,402 5,088
BE 2,632 5,940 2,869 3,071
B AN 1,309 2,844 1,337 1,507
BERT 1,377 1,971 952 1,019
BER2T 769 1,388 666 722
BERST 567 1,308 624 684
B 2,713 4,667 2,242 2,425
BEXRE 274 657 321 336
= 2,213 5,008 2,374 2,634
hERE 641 1,429 663 766
e 2,489 5,137 2,481 2,656
25 L ET 2,339 5,091 2427 2,664
B &AL BT 76 154 63 91
HEFILET1T 562 1,201 567 634
HEFILET2T 617 1,297 608 689
HEZFILAT3T 647 1,476 728 748
g 1,902 4,128 1,966 2,162
B & it B Fr ET 685 1,573 764 809
BHEREBET1T 581 1,174 565 609
BHERERET2T 767 1,727 818 909
BHERERETST 776 1,593 720 873
BHERERET4T 515 959 455 504
HEKERETST 849 1,712 817 895
HEERET6T 889 1,931 936 995
BHERERET7T 879 1,844 914 930
HERERETST 69 211 103 108
£t| 5325 11,151 5,328 5,823
HEF R FET 1,988 4,143 2,028 2,115
S|EFET1T 631 1,588 791 797
S|EFET2T 773 1,749 826 923
S|EFET3 T 739 1,388 641 747
g 2,143 4,725 2,258 2,467
ERE1T 579 1,324 634 690
EIRET2T 387 1,029 510 519
EREIST 507 1,326 650 676
EIRETAT 690 1,462 652 810
EIZEIST 539 1,112 572 540
g 2,702 6,253 3,018 3,235
ME A 2,900 6,279 2,987 3,292
J\THET1T 37 39 15 24
J\THET2T 26 60 30 30
J\THEI3T 51 111 49 62
B 114 210 94 116
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